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QUESTION 1

Which subset of Structured Query Language (SQL) is used to create and name database entities?
A. Data Control Language

B. Database Entity Language

C. Data Definition Language

D. Data Manipulation Language

Correct Answer: C

QUESTION 2

A relation for a construction company is shown in the exhibit. Which of the following best defines the relationship
between Cust_ID and Cust_Name?

Cust_ID Proj_ID Cust_MName Proj__Description Status |(Manager
iooi 98-01 Acme Reflow Study D one Rubio
1002 98-11 J&L Quality Analysis Start Chang
1001 99-02 Acme Process Analysis Done Jones
1003 59-12 Brava Co Efficiency Study Start Doe

Project Relation

A. Cust_Name is the determinant.

B. Cust_Name is transitively dependent on Cust_ID.
C. Cust_ID is transitively dependent on Cust_Name.
D. Cust_Name is functionally dependent on Cust_ID.

Correct Answer: D

QUESTION 3

Consider the relation shown in the exhibit. Which of the following SQL statements would properly remove all tuples for
New York customers?
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Cust Mo | Cust Name |Satisfacton_Rate | Sales_Office | Sales_Rep_No
1011 MicroWidget | 75 Atlanta 1350
1012 MacroWidget | 90 New York 7403
1013 dyz Corp 78 Los Angeles | 2457
1014 DayCo 95 Atlanta 1350
1015 DigiTech B85 Chicago 3303
1016 DataTech 92 Los Angeles 2457
1017 UniSort 81 MNew York 7403

Customers Relation

A. DELETE * FROM Customers WHERE Sales_Office = New York;

B. DELETE FROM Customers WHERE Sales_Office = New York;

C. DELETE * FROM Customer WHERE Sales_Office New York;

D. DELETE FROM Customers WHERE Sales_Office NOT LIKE New York;

Correct Answer: B

QUESTION 4

Consider the Registration relation shown in the exhibit. Which of the following SQL statements would return the
Registration2 relation from the Registration relation?

Registration_ID Student_ID |Course_Code| First_Mame | Last_Name
1001 5320 M3455 Teri Chan
1002 5255 M3455 Caros Trujillo
1003 §511 Ad343 Helen Yang
1004 5812 54511 Robert Cray
1005 5320 A4343 Teri Chan
1006 5255 M4422 Caros Trujillo
1007 5511 Md4433 Helen Yang
1008 sSB12 52212 Robert Cray
Registration Relation

1003 S5511 Ad4343 Helen Yang
1005 5320 A4343 Teri Chan

Registration2 Relation

A. SELECT Course_Code FROM Registration;

B. SELECT * FROM Registration WHERE Registration_ID = 1003
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AND Registration_ID = 1005;
C. SELECT * FROM Registration WHERE Course_Code = \\'A4343\\’;

D. SELECT Registration_ID, Student_ID, First_Name, Last_ Name FROM Registration WHERE Course_Code =
\WA4343\\;

Correct Answer: C

QUESTION 5

Which term describes an attribute or combination of attributes that uniquely identifies a row in a relation?
A. Entity

B. Domain

C. Primary key

D. Attribute group

Correct Answer: C

1D0-541 VCE Dumps 1D0-541 Practice Test 1D0-541 Exam Questions

1D0-541 VCE Dumps | 1D0-541 Practice Test | 1D0-541 Exam Questions 4/4


https://www.leads4pass.com/1d0-541.html
https://www.leads4pass.com/1d0-541.html
https://www.leads4pass.com/1d0-541.html
http://www.tcpdf.org
https://www.leads4pass.com/1d0-541.html
https://www.leads4pass.com/1d0-541.html
https://www.leads4pass.com/1d0-541.html

